SOUTH WESTERN RAILWAY Divisional Office,
Personnel Branch,
i Mysuru 570001
W/ No.Y/P.608/Conf/Elec-TRD/25% LDCE f&Aie/ Dt: 26-07-2024

Note
Sub: Selection for the post of Junior Engineer/TRD-25% LDCE in Level-06,
In Electrical Department -CBT held on 25-07-2024

hkhkh

The Computer Based Test in connection with the selection for the post of Junior Engineer/TRD-
25% LDCE in Level-06 was conducted at 14.00hrs of 25/07/24 at Adithya Institute of Management
& Information Technology (AIMIT),# 905/4, 4t Main, 1% Cross Road, Opposite Thagadur Subbanna
Park, Vidyaranyapura, Mysuru, Karnataka 570008. 14 employees have attended the CBT.

The question paper along with answer keys of the CBT ( held on 25/07/2024) for the post of
Junior Engineer/TRD-25% LDCE in Level-06 is uploaded in swr.indianrailway.gov.in>About
us>Division>Mysore>Personnel Branch>Question Bank> Junior Engineer/TRD-25% LDCE-
QP&Answer key-Objection Note.

14 employees, who have attended the written examination held on 25/07/2024 for the post of
Junior Engineer/TRD-25% LDCE in Level-06 and whose names furnished in the enclosed list may
submit their suggestions, if any regarding answer key along with the self attested documentary
proof through their personal e-mail id to srdpo@mys.railnet.gov.in on or before 30/07/2024 . The
employees, who are uploading their suggestions in regard to answer key should specifically indicate
question number in the question paper. The employees, who are uploading their suggestions in
regard to the answer key should address their suggestions to Sr.DPO/Co-ord/MYS duly furnishing
the undermentioned particulars with the uploading of the self attested copy of the documents.

Name, Number of the | Answer as per | Revised answer | Authority Number of
Designation question and | the key [ as per | under pages in the
and Station the heading | answer employee which document
under which | uploaded suggestion revised uploaded in
question answer is | support of
appears suggested | revised answer
suggested

Suggestions uploaded without the above particulars will not be considered for examination.
On no occasion, employees should utilize this platform to express their experience regarding the
CBT. It should be restricted only to upload suggestions to answer key with documentary proof.

Employees listed in the enclosed list, who have attended the CBT for the post of Junior
Engineer/TRD-25% LDCE in Level-06 are only eligible to submit suggestions, if any through
personal e-mail id on or before 30/07/2024.

Encl: 1. List of employees 30
2.Question paper with key answers in pages

= 26(o#ha—
(VISHNU GOUDA)
Sr. Divisional Personnel Officer/Co-ord
S. W. Rly, Mysuru.
Copy to: Employees through their
Supervisory Officials.




DEPARTMENT.
SI No Name Designation/Station
\_
01 R. SARAVANAN TECH/II/TRD/MYS
02 PANKAJ KUMAR S. TECH/II/TRD/CTA
03 PANKAJ KUMAR R TECH/II/TRD/JRU
04 SATHIYASEELAN V TECH/II/TRD/MYS
05 BRAHAM KUMAR RAUT TECH/II/TRD/CTA
06 SAROJ KUMAR SAFI TECH/II/TRD/MYS
R
07 NISHANT KUMAR TECH/11/TRD/CTA
08 MOHAMAD ASHHAD ALAM TECH/I1/TRD/CTA
09 ALOK KUMAR TECH/II/TRD/ASK
10 SATYNDRA KUMAR TECH/11/TRD/MYS
11 UDAY KUMAR TECH/II/TRD/ASK
12 RAVI KUMAR TECH/I1/TRD/CTA
13 RAKESH KUMAR TECH/II/TRD/ASK
14 SANJAY KUMAR MEENA TECH/II/TRD/CTA




Junior Engineer/TRD in Level 06 25% LDCE in Electrical Department Department

South Western Railway - Mysore Division

CBT TEST QUESTION

Junior Engineer/TRD-25% LDCE in Level-06, in Electrical

Test Name Department, SWR, MYS
Test Date 25-07-2024

Duration (In Minute) 120

Venue Name AIMIT

Total number of Employees attended 14

Total Mark 100

Test Conducting Officer Name

Shailendra Kumar Singh

Test Conducting Officer Designation

BDM

Question paper prepared officer name

Sri. B Raghavendra Kumar

Question paper prepared officer designation

Senior Divisional Electrical Engineer, SWR/MYS

Question paper prepared officer mobile

9731667300

Question paper prepared time

25-07-2024 14:17:15

Selected Set For Test Set-2
Sno. Question
CLW
1 Language Option A Option B Option C Option D Correct Answer
. - . | Carnnge Locamotive Workshop Chk ks
English/Hindi | 4us asfes s o
DCW
2 | Language Option A Option B Option C Correct Answer
. ) . | Diesel Component Works Direct Carrier Wagons Diesel Compenent Watkshop Diesel Component Warks
English/Hindi | s e anf STEE AR T e T Sl e 7
RCF
3 | Language Option A Option B Option C Correct Answer
; 5y Rail Coach Factory Railway Commistee fie Fund Railway Consumer Federation : Rail Coach Factory
English/Hindi Yl 1 tiged) i i e e T 2T T fm A Fig haeh
MRVC
4 | Language Option A Option B Option C Option D Correct Answer
- - < | Mok Nhusshas Rail Vilias Carporatson Mu tail Vikna Copumaties it
Enghsh{Hmdl T |i;'~: ™ I':-Ih'!l am ' g 1a [ At
ERBW
5 | Language Option A Option B Option C Option D Correct Answer
: .. | Electric Resistance But Wet Electric Resistance Butt Welding | Electric Radiation By Waves Elestrone itadianon By Waves Flectric Resistance Butt Welding
English/Hindi | et st s e ol i e il g g fafe i selfdze wfiry i Afe




Main line 1solator switch is denoted by S.M. 1.e.

g@ A1 HEdideR a9 &1 g.ud. sufdl

6 | Language Option A Option B Option C Option D Correct Answer
) - State Main Switch Main Sectioning Main Siding Main Switch Main
English/Hindi 3 T T ta S P e forr
Normally, power generation & transmission system of the supply
authorities are of
3 AR W, feroredt I
7
Language Option A Option B Option C Option D Correct Answer
Single phase Two phase Three phase T, . Three phase
English/Hindi U R 2R NIC ALl e = =
The distance of OHE section between FP & SP 1is called
TH & did 3Uds W8 I gil & Tl B i §iidl @
8 | Language Option A Option B Option € Option D Correct Answer
. . Feedwg length Feeding zone Sector Sub sector SeCtor
English/Hindi | 2o iy ) i e &= P aqd Yt &
What will be the booster transformer windings ratio between primary &
secondary ?
WIS & did gReR B RER 15 1S S{Td a1 Bl & T
9
Language Option A Option B Option C Option D Correct Answer
1000:5 1000:3 1:1 5:1 |
English/Hindi ”. 4
1000:5 1000:3 1:1 5:1 1:1
The distance between two consecutive booster transformer location in
25 kV AC traction system with return conductor is
Y deder & a1y 25 Fdi vl caeH fen § & ardR
10 | TR BT ®YF & &g Bl gl §
Language Option A Option B Option C Option D Correct Answer
11 km 1.33 km 2 km 2.66 km 2.66 km
English/Hindi 1 ﬁ’?ﬁ 133 fprl 5 %Iﬁ 3,66 fot _—
On curves , The measurement of span length in odd number of track is
measured from
11 | TeaT IR, fanH e § O H dars i SHaft BT AT {1 Sl §
Language Option A Option B Option C Option D Correct Answer
English/Hindi | g g o ot sy P iy e I el i vantn S e

il & 2o il dTaed v|




Maximum wind pressure is considered to design OHE structures for Red

zone

IS O & foru aiugs axa-rsit @i f&uirgT o3 & foru siftidhad ya garg

12 | gHE1 91dT &
Language Option A Option B Option C Option D Correct Answer
180 kgf /sq. m. 160 kef /sq. m. 150 kef /'sq. m 110 kef /sq. m 150 ket /sq. m.
English/Hindi| | kef /sq. m. 160 kef /sq. m. 150 kef /sq. m. 110 kef /sq. m 150 kef /sq. m.
Maximum wind pressure is considered to design OHE structures for
Yellow zone
Tal i & foru 3iuEs SXa1si @i fSug= & & o 3iftedd ga- carg
13 | g1 Srdl g
Language Option A Option B Option C Option D Correct Answer
112.5kef /sqi m. 125 kef /sq. m 109.5 kaf /sq. m 102 kgf 'sq.m 112.5 kef /sq. m
English/Hindi| - - kef sq. m. 135 Kaf /sg.m. 109.5 kef /sq. 0. 102 kgf 'sq. m 1125 kef /sq. m.
Maximum permissible relative gradient of contact wire in two adjacent
span shall not be greater than on main lines
Gl T Sfaft] § HUD aR DI b a FHT Hh& erd g
14 | @31 A 3 “Tel gl
Language Option A Option B Option C Option D Correct Answer
1.5 mm /m. 2'mm /m. 3 mm /m. 4 mm/m. 1.5 mm /m.
Englishy/ il 1.5 mm /m. 2 mm /m. 3 mm /m. 4 mm/m. 1.5 mm /m.
In AC traction, what will be encumbrance tolerance at support is (As
per RDSO latter no. TVOHE/GA/3013 dated 14.05.13
U BT 1, FEdE IR U s Aiewid] @1 g (SIRStug el
15 | T GBI P SR | SIEISTS / 3ieEs / Siie / 3013 f&Hi® 14.05.13
Language Option A Option B Option C Option D Correct Answer
= 50 mm +20 mm £ 0mm + 10 mm = 50 mm
sl Hinel + 50 mm +20 mm =0 mm =10 mm = 50 mm
In AC traction, height of termination of unregulated OHE is
il By A, sifrafia sives o auifa @1 3a1g o
16 | Language Option A Option B Option C Option D Correct Answer
6.75 m 3 6.95m 72m 6.95 m
English/Hindi 6.75 m 3 BN 75m 6.95 m




Tolerance of catenary wire height 1s (As per RDSO latter no.
TIVOHE/GA/2013 dated 14.05.1013)
PR TR SIS I ACYA & (HRSTTHA D AR TR
faardt / sfieag / oite/ 2013 feHid 14.05.2015)

17
Language Option A Option B Option C Option D Correct Answer
_ i 30 mm + 50 mm = 10 mm Zero = 50 mm
Bgish/Hiad + 30 mm + 50 mm £ 10 mm Zero £ 50 mm
Diameter of inclined dropper in bracket assembly is
Sthe Jiadl H 3P SIUR DI A §
18 | Language Option A Option B Option C Option D Correct Answer
7 mm 5 mm 9 mm 6 mm 7 mm
English/Hindi -
7 mm S mm 9 mm 6 mm 7 mm
When equal encumbrance 1.4 m. is given at both OHE supports & 100 mm
pre sag in contact wire, what will be the length of 3rd dropper in 72
m span length ?
ofd SRISR T isl-y 1.4 111 Il 3u=g Juid 3k Guyeh ar o
1o | 100 TEHT Ot |RT H feam Sirar g, 72 Hiex W9 &1 dars H 3
SR 3t ders a1 ehfl?
Language Option A Option B Option C Option D Correct Answer
767 mm 763 mm 761 mm 758 mm 767 mm
English/Hindi S
fglishtindi 767 mm 763 mm 761 mm 758 mm 767 mm
For inclined OHE, angle between dropper’s top position & vertical
plane should not be more than
sEgd MU b forg, 3o ot i fRufg s Feater fanma & 4=
20 | DT DI 3ifeeb & 3ifeiep gl g1 91ige
Language Option A Option B Option C Option D Correct Answer
100 60 40 20 40
English/Hindi
100 60 40 20 40
Material of AC catenary wire 1s
Tl SRt aRR B 9rEl §
21 | Language Option A Option B Option C Option D Correct Answer
. Cadmium copper Annealed copper Hard drawn copper Bronze Cadminm copper
English/Hindi | &t iy iR s o ) T i diad Fsform i




Cross section area of AC catenary wire is

Tt HeRI aR &1 HiY Y9 TRaT g

22 | Language Option A Option B Option C Option D Correct Answer
107 sq mm 98 sq mm 65 sq mm 61 sq mm 65 sq mm
English/Hindi - - . -
107 sq mm 98 sq mm 65 sq mm 61 sq mm 65 sq mm
Cross section area of contact wire is
HUd IR BT 19 I & ©
23 | Language Option A Option B Option C Option D Correct Answer
193 sq mm 158 sq mm 107 sq mm 97 sq mm 107 sq mm
English/Hindi -
193 sq mm 158 sq mm 107 sq mm 97 sq mm 107 sq mm
In AC traction, maximum stagger of contact wire on curved track is
T Syl A, ATGGR ¢ W ud dR &7 Hfdas ¥R
24 | Language Option A Option B Option C Option D Correct Answer
380 mm 300 mm 229 mm 200 mm 300 mm
T
nglish/Hindi 380 mm 300 mm 229 mm 200 mm 300 mm
When radius of curvature reduced half than versine will be
S| dehdl ®I Ao 3f1el g1 STt a alis gar § — §g S
25 | Language Option A Option B Option C OptionD Correct Answer
) il Half times s 4 Times 2 Times 2 Times
English/Hindi e Tﬂ 78 e 2 4dR )8R > &R
Depression of track due to low joints, loose packing, the change in
the track level is magnified at the contact wire level , The value of
this change may be taken for consideration of stagger
&H oisl, et UfdT1 & BRI 2F BT 3@, Yub dR & W W
26 | C WIR H uRad- &I Ser1 Sl 8, 59 uRad- &1 J1H STH
B forar o7 gebdi g
Language Option A Option B Option C Option D Correct Answer
10 mm 50 mm 40 mm 33 mm 33 mm
English/Hindi _
10 mm 50 mm 40 mm 33 mm 33 mm
The reason of anti-creep arrangement 1s ““To restrict the OHE movement
TSI AT BT RO "I G- i (R 8 & HAT .. ..
27 %|
Language Option A Option B Option C Option D Correct Answer
. | Along the track Across the track e s i Along the track
English/Hindi —E\a.;a;mu ¥ B R G 2 8 S ot e 41 o & WY




Tramway type OHE (regulated ) is suitable upto the maximum speed

2Hd UHR OHE (fafafta) sifefean 1fd a& Sugdd o

28 | Language Option A Option B Option C Option D Correct Answer
30 kmph 60 kmph 75 kmph 100 kmph 60 kmph
T
nlish/Hindi) kmph 60 kmph 75 kmph 100 kmph 60 kmph
In simple catenary system (regulated) . with 50 mm pre sag in contact
wire 1s suitable upto the maximum speed
el el Ren (fafafia) #, dud dar | so fieigd an
2o | P 1Y SHf¥haH TTfd b I ©
Language Option A Option B Option C Option D Correct Answer
80 kmph 100 kmph 120 kmph 40 kmph 140 kmph
English/Hindi
fglish Hindi 80 kmph 100 kmph 120 kmph 140 kmph 140 kmph
Advantage of sumple catenary system over compound catenary system
fArfSa e Red R 9Ra de-3) yomedt &1 any
30 [MLanguage Option A Option B Option C OptionD | Correct Answer
Y | light in weight Obpricidn & et b oy . A All of the above All of the above
E]‘lghsh[‘l‘llndi qo i\r _(131:35 [ET VR ER e T E ] i A R S R & ) TR f—ﬁ H"n
In stiched catenary system, a short length of supplementary catenary
(say 10 m) is provided at support to improve
Reds FeT) Red #, R & fore a9d9 8§ @ el (10
3 | ffer) Bt U@ SISt dars HaH 3 S o
Language Option A Option B Option C Option D Correct Answer
: Mechanical strength More oty in elasiny ClTenT CRITYing capacity All of the above Mote vniformity in elasticity
English/Hindi mufiS) i e i ST A A FR T TR i1 1 S T
In entire span length, elasticity of OHE will be
R WH $i dars H, OHE ®i did gl
32
Language Option A Option B Option C Option D Correct Answer
R o7 e 4 o it Cannot say
English,/Hindi Wi B ot e i E S addkiatd |(§! &g Hehdl
If span length decreases , than variation in elasticity of OHE over a
span
gf ¥ @1 dals gedi o, dl OHE 1 aid H fisdl v W9 9
33 | D I €

Language Option A Option B Option C Option D Correct Answer
. - Increases Decreases Remains same Cannot say Decreases
English/Hindi ﬂ ;6 FHE T B T T e T 9 g ot 2




Insulated overlap is required for

3l SlaRdd & AU IS 3

8 Language Option A Option B Option C Option D Correct Answer
¢ | OHE sectioning purpose i i . All of the above OHE sectioning purpose
English/Hindi | 5 s £ Gaufiin sgen T T B i S & wil 1 7 & G R
The length of PTFE type neutral section is
PTFE WhR dc®@ SHIT Pl Garg ¢
35 | Language Option A Option B Option C Option D Correct Answer
3.163 m 5.64 m 592 m 621 m 5.163 m
English/Hindi 5.163 m . 5.92 m 621 m 5.163 m
PTFE stands for
PTFE &1 dld4 §

i Language Option A Option B Option C Option D Correct Answer
English/Hindi | 1 vete R om | | | [aemean
On tangent track before neutral section. signal location should not
be less than
e S | Ugd WRRWT & U, ahd T F 1 =151 oAl

w7 | AT

Language Option A Option B Option C Option D Correct Answer
600 m. 500 m. 400 m. 300 m, 400 m.
English/Hindl) 00 10 500 m. 400 m. 300 m. 400 m.
In cross type turnout, T/O contact wire is just over the M/L contact
wire & both contact wire is fixes each other by small piece of
contact wire and PG clamps , 1.e a bridge known as
BIg 213 e13M3e |, ¢/ 3{l Jud R U0/ Ud 4Us dR & 3l

o | FIREIAI T 3R Sl W TR U AR 3R disil Fey & Bie
THS GRI TP GER Pl 31 P ¢, o1 T Uel & =T H ST
iG]

Language Option A Option B Option C Option D Correct Answer
Cross contact bar Cross knuckle bar Fiber rod Rl s Cross contact bar
English/Hindi quﬁ e Sreht ugt WJ}TW TS a‘:‘TTlﬂﬂ'fF'lﬁ
Which type of turnout is direct anchoring in one span
5T YHR &7 Adar Uh 3fafdl H Ude Thia g
39 | Language Option A Option B Option C Option D Correct Answer
Overlap type Cross type & Kavekle rype
English/Hindi = T8 HR AT S

I YHR




A device, which installed in contact wire to separate two elementary

section & provide smooth

passage for pantograph is called

Ush JUBIUL, Sl HYcb dR H &l WIUffed SHIT b Sfelv B 3R -l

40 | JEH &R @ [o1g 11U far g
e & forg A gl S &
Language Option A Option B Option C Option D Correct Answer
Insulated overlap Section insulator Bracket Assembly Cut-in insulator Section insulator
English/Hindi el T ST ST T G R ST SRR
Section insulator works like an insulated overlap with a major
difference
3T ZeTex U W iR & 14 U @l Ay & avg B
" wrarg
Language Option A Option B Option C Option D Correct Answer
English/ Hingllee & T s s ok, ity | = e
Distance of “C” jumper’s from the nearest mast is
ECGERaleor: RIGURS t22 nite 2 vt A
42 | Language Option A Option B Option C Option D Correct Answer
_ 1 45m 5.6m 6.75m 9m 5.6m
g 45m 5.6m 6.75m 9m 5.6m
“F” jumpers are provided at
TGS WyeHduSde
H Language Option A Option B Option C Option D Correct Answer
Insulated overlap Un-insulated overlap Turnout Anti ereep point Insulated overlap
English/Hindi| sy sy SRS AT IufRE e T g I SARE
In cantilever assembly. in case of push off, projection of register
arm beyond the steady arm clamp should be (As per RDSO latter
no. T/OHE/GA/3013dated14.05.3013)
hicelar sRiaell H, =1 31 & J1a H, R ST aefu d W
44 | ISTeR 3 1 Ui g1 A1feT (3RSITEs & IR, Har / 3iuas
iT /3013 {5823 14.05.3013)
Language Option A Option B Option C Option D Correct Answer
50 mm to 300 mm 150 mm to 200 mmn 150mm to 400 mm 250 e s 500 mm 150 mm to 200 mm
English/Hindi 150 srun 0 200 ra 4 S0mrm 1 40D o B e S0 e 150 ot 360 mmz

50 mm to 300 mm




In cantilever assembly, standard size of register arm (i.e. inner dia

outer dia)

sSde ardddl d, ISRER 3 &1 AFD PR (@ g foar/ agd
f&an @ g 2

45
Language Option A Option B Option C Option D Correct Answer
_ | 25/30 mm. 20 /25 mm. 28.4 /33,7 mm. 30 /38mm. 28.4/33.7 mm.
EnghSh;Hmdl 25 /30 mm. 20 /25 mm. 284 /337 mm. 30 /38mm. 28.4 /33.7 mm,
Excessive voltage due to surge is bypassed by lightning arrester into
: ] o
9fS & PRV A dicesl | fSolell <] R Pol AT
fobar ST &
46
Language Option A Option B Option C Option D Correct Answer
; Atmosphere in the
Atmosphere in the form 4 o
il of electromagnetic energy [onltr?g(;f electro static | Earth il e i Earth
nglish/Hindi Ene T b AT
T TGS et 2w e | G2l sl e}
Minimum earth resistance when not specified should not be more than
Ay 7ol oiF W A Tl Uikl S S ol ol
47
Language Option A Option B Option C Option D Correct Answer
9 ohm 10 ohm 5 ohm 2’5 ohm 10 ohm
English/Hindi - i
Blish/Hindl) o iy 10 31 5.3 25 31 10 3
Object & primary requirement of a good earthing system i.e. It should
be
U s R R o1 sifeoiae IR WA sragadar a1 gi-t
48
Language Option A Option B Option C Option D Correct Answer
Stabilize circuit potential 2
with respect to ground & ,va:;jEd low it
. __|limit overall potential rise | et sien & wserists L All of the above All of the above
English/Hindi [zt 3 vy & wfibe S — faulty C'-‘”E"ta)_.,rm F & i FHW b il
& T fRR B 3R a0y
1T 91 ) < TS W
Size of “P” type portal
il UPR & Ui Pl DR
49 " Language Option A Option B Option C OptionD | Correct Answer
) s 450 x 450 mm 550 x 550 mm 300 x 300 mm 400 x 250 mm 300 x 300 mm
English/Hindi 450 x 450 mm 550 x 550 mm 300 x 300 mm 400 x 250 mm 300 x 300 mm




BFB mast 1s suitable to resist

BFB A%&d faR1Y &% & fog Sugad ©

Language Option A Option B Option C Option D Correct Answer
o Good fo:tl:eilgindg Good for twisting Good for bending
;noveme;l utha movement but bad for |Neither Bending & |movement but bad for
: oo | ot Bending & Twistng n(:rr;mf;?[g bending movement Twisting movement|twisting movement
English/Hindi | e e g e ey [ENETE SR e g ARG (g T S & R
‘ﬁqg” W%me%gﬁm@ﬁ BERE m%gwqm
e R g d | [T fougre BEREEANFCNES
Dimension of “B™ series mast is same as K" series except
B 401 & HE&JW &1 AW "K" & GHH ©. a9 s8@d fd
Language Option A Option B Option C Option D Correct Answer
51 h Both channel Both channel welded B]uithdcham::l F Both channel welded
i BOFh ¢ aHHEI,WEMEd welded together together horizontally :‘uefle ?_Jﬁe ber N together horizontally
‘nglish/Hindi X Ecr aRI : SSERT : e
%ﬁa %ﬁa$@§*ﬁ A =0 2 v {8 w0 S T A aa%wﬁwmaﬁmmﬁwmu
Aess sy e ELSERRE e ARe g [ U
Approximate per meter weight of K-225 mast is
K-225 H&jd &1 Ufd #ie? 964 sai-d g
52 | Language Optien A Option B Option C Optien D Correct Answer
- 42.65 kg 48.64 ko 56.10 kg 65.11 kg 56.10 kg
English/Hindi e Ao Lo
b 42.65 kg 48.64 kg 56.10 kg 65.11 kg 56.10 kg
BFB mast is suitable at
BFB ARE 3UY& ©
53
Language Option A Option B Option C Option D Correct Answer
. . 4. | Mormal location at straight track Anchoring location At cross over At curve track Nopmal loention 4t stright track
ETJg'lSh/Hmdl HIF F T I T urE=ic ROR E 1] “rb e it e TR e
What is the disadvantage of RSJ mast compare to fabricated K-200 mast
RS A BT GHHH &1 § ¢ K-200 FEIA &1 da-1 H
54 Language Option A Option B Option C Option D Correct Answer
. s More “"Eight Wind load is greater All of the above All of the above
English/Hindi ifir ao= T 4R A E T & it TR @ 3
*O” type portal is used to cover maximum
A C a 3
O YR &1 Ulcd Hdad PR DA P (o1 IYFNT {41 Sl ©
55
Language Option A Option B Option C Option D Correct Answer
. ) | 6 tracks /6 OHE's £ tracks /8 OHE's 6 tracks /O OHE's 6 trocks /12 OHE' 5 6 tracks /12 OHE' s
Enghsh/Hmdi [\%237 6 HTQH’% §3F /8 HTQEE'J 6 ‘—:—,.5 9 jﬂ-r!;r::r 6 8% |2 MU 6 .—-:¢ ]:.ﬁrga-:f




Vertical member of the structure which one end is embedded in

foundation

is called

T DI R T ol TP DR 19 & TS ¢ 39 Dol oirdl

@

56
Language Option A Option B Option C Option D Correct Answer
. . . N{aSt Ljplight Both “a™ & “b™ is night T Both “a" & “b" is right
English/Hindi Mast m e e of e 2l 8 it et v s T §
Angle, which support between boom and upright is called
101, 9l g 3R SHMER & sd YH2H &vd g, FHl odl &
57 | Language Option A Option B Option C Option D Correct Answer
- ks Arm Drop arm Mast Knee Bracing Knee Bracing
English/Hindi | _. T BTG Hﬁﬂ.’ e @l st s il s
Portals are used in multi tracks section such as yard, where
gIcH &1 SUd Hedl ¢ Ya=H o b ars, # favdn Sl @
sg | Language Option A Option B Option C Option D Correct Answer
Track centre to centre is Track centre to centre
inadequate for R is inadequate for
English/Hindi independent mast -'mia .-Ir:‘;j; o ind?pendent mast
el T & R 0 X e TR B R ¥
R ¢ Hex s & RieR g HeR Sva 8
Implantation in open ( Main) line is
el () 1S H AR §
59 | Language Option A Option B Option C Option D Correct Answer
221lm 236 m 2.50 m 2.75m 2.50m
English/Hindi £
221m 236m 2.50m 275m 250m
Implantation for inside curve up 10 3/4 degree curve is
3/4 1841 9eb I & 3cR & dsh & AT YARITUI g
60 | Language Option A Option B Option C Option D Correct Answer
3.05m 2.90m 325m 3.00 m 3.05m
English/Hindi
nlsh/H ) 4 05 m 2.90m 325m 3.00m 3.05m
In 25 kV AC traction. Bracket tube insulator is used in cantilever
assembly in between :-
25 Pt Tl caxH H ddhe eud SYdeR BT IuUNT dfediar
61 . . [ =3
3rdecil & dfd H dgl fdhar ordl g: -
Language Option A Option B Option C Option D Correct Answer
. N . | Mast fitting & stay tube Mast fitting & bracket tube Bracket tube & register arm Ragiatur arm & stay fube Maust fitting & bracket mbe
English/Hindi Fr T ofR @ o st et dire e v e v e A A i T g 0 e




What is the maximum variation permitted in the frequency

rafy | SgHd sifeidan REd & g

62 | Language Option A Option B Option C Option D Correct Answer
0.01 0.03 0.05 0.1 0.03
English/Hindi _
0.01 0.03 05 0.1 0.03
What is the kV grade of the insulators which are used in 25 kV AC OHE
- = ~ - .
25 thdl Ul 3fugs H Iuan fU fF aTd SYeiex &1 ddl IS o
63
Language Option A Option B Option C Option D Correct Answer
_ | 25kV grade 42 kV grade 52 kV grade 33 kV grade 52 kV grade
English/Hind | 5 et 15 249 2% IS 334l 75 52l s
For broad gauge. standard moving dimension for top width is
dis 119 & fore, =i 91815 & fole AF® gekil 3maH g
64 | Language Option A Option B Option C Option D Correct Answer
570 mm 1676 mm 743 mm 610 mm 610 mm
—
English/Risgg 570 mm 1676 mm 743 mm 610 mm 610 mm
If the gross clearance between ODC & fixed structure is in between
152.4 mm to 76.2 mm, than ODC is called
gi& oDC AR [FiHd W= & &g abd Harl 152.4 Bl 9 76.2 B
65 | & &4 g, dl ODC el oiidl ©
Language Option A Option B Option C Option D Correct Answer
_ ~|"A’class ODC ‘B’ class ODC '€ class ODC All of the above ‘C" class ODC
English/Hindi ‘A G opC B i opC &l ope TR F T - @il ope
In tramway type OHE, the measurement “Y’ at 3 50 C, for winch type
ATD is
2Hd UHR OHE H, HIU, Y '3 50 C UR, WA UHR ATD &b felU §
66
Language Option A Option B Option C Option D Correct Answer
2600 mm 2500 mm 2450 mm 2300 mm 2500 mm
Snglishy/uc 2600 mm 2500 mm 2450 mm 2300 mm 2500 mm
Length of stain less steel rope in winch type ATD
I UHR ATD H Lo ¥t IRt 3l darg
67 | Language Option A Option B Option C Option D Correct Answer
7.5 m 9m 10.5m 12,75 m 10.5m
English/Hindi - = s =
7.5 m 9m 10.5 m 12.75 m 10.5m




68

During yearly maintenance of OHE, how much variation is not permitted

in setting distance

with the original figure

3HIuag & i IERWIA & R, &8 0 & | fava-1 fmar ot
ol T 3
e 31Ppid & a1

Language Option A Option B Option C Option D Correct Answer
] _ .| Above 30 mm Above 35mm Above 40mm Above 45mm Above 30 mm

English/Hindi| ;0 oof & s 35 il R 40 il & Fm 1< i A R 30 fiyll @ B
Periodicity of contact wire ending clamp visual inspection is
U IR Pt GE acid 22 e ot smafiemdr g

69 | Language Option A Option B Option C Option D Correct Answer

one year 2 years 4.5 years 8 years 4.5 years

English/Hindi > g1 4599 8 T1d 4594

Traffic block is granted to the OHE supervisors for heavy maintenance

work by

lﬂﬁ?@?@mmﬁi%ﬁmqﬁa?@m@jﬁﬁwﬁmm

5

70
Language Option A Option B Option C Option D Correct Answer
: . TPC in consultation . R ihas “_fith o Section controller in
Section controller in A e |Section controller with [permission of A e S
English/Hindi consultation with the TPC avitraiion the permission of TPC [section controller T™PC
mndi1 T
TR & TRETE & SPHT | ey ﬁmaﬁ ‘ aﬂm%w et & e &
frefes R it _— wﬁ"% ST e
Which types of OHE breakdown are usually occur in OHE
3fegs # frd UHR & ST ger SHFaR IR eid §
Language Option A Option B Option C Option D Correct Answer
71 Uprooting of or damage
E‘;gé;i?g:;ﬁ;;ﬁi?ﬁm Ofcheck & clean oxide |Flash over or other
: - T % Ueh © Ia from surface damage to insulators | Allof the above All of the above
Blish s e i [F8 3 SIS Is‘ijﬁauwﬁwm&m i i I i
FE B THEH 1 & S Y et
g el
What do you mean by “Electrical Crossing of t he Railway tracks™ ?
E13Td ¢@ @ galacdd hileT I I a7 SR 87
Language Option A Option B Option C Option D Correct Answer
72 (j) Over head
Underground electrical [electrical power line
power line crossing crossing across Rly Both A & B e oo BothA & B
English/Hindi ACrOSS ]-{])'(_ tracks tracks A&B _d.]:n FT AR T A&B Eﬁ:ﬁ

Yerd +R F e faega
S1E- Pl YR 31| geid|

(j) Y94 el & 9R
KlIERGEERIERE |

BIEERSIES]




What is the minimum clearance between highest traction conductor and

lowest crossing conductor upto & including 11kV as per Rly BD'LNo

2011/CEDO/SD/IRSOD/Elect/02 dated 14.03.2012. ACS No.-7 to the Indian

Railway SOD(BG) 2004.
3wAH AR Hadex AR a4 HH DI hadex & aid AdH
feTRit @ €, fS/9H Rly BD'LNo 2011 / CEDO / SD / IRSOD / Elect /

73
02 f&=i® 14.03.2012 F YR 11kV M g | THTY &R -7 I YR
¥ I;THGHC‘“;” (@St 2004 T |
Language Option A Option B Option C Option D Correct Answer
Enalish /Hindi Underground cable 20m 6.0 m 10.0 m Underground cable
nglsh/Hindl |« e 20m 6.0 m 10.0m i
When object is not to be measured & micrometre 1s fully in tight
position, if zero of
circular scale 1s ahead of the zero of the main scale, i.e. this type
of the error of the micrometre
1s called
e a%] dl HI41 gl §fiFl ¢ 3R digep e gii ave | av fufd
7 | Hg, afe g T
URUF U9 G UHH & I 9 SF 8, 3 ArgdiHieR o
U UBR B Ffe
Bl Il §
Language Option A Option B Option C Option D Correct Answer
; o Positive error Negative error No error Both A& B Positive error
English/Hindi Wﬁ TERIES A P '113 o Bt v o e
Multimeter is used to measure
HeeIHIeR D1 SUTRT A9 & foTg fean SirdT &
75 | Language Option A Option B Option C Option D Correct Answer
, 5 e VOlmge Current Resistance All of the above All of the above
English/Hindi Enm af{nl:{ mﬂ T ol SR &
Magger is used to measure
WR  HY & {e1T &1 SuaiT foar oirdi g
76 | Language Option A Option B Option C Option D Correct Answer
) o Voltﬂge Current Insulation resistance All of the above Insulation resistance
English/Hindi | adar g=geA Wil Fw ST ufaR




Tension in the conductors is taken by

SR daae] | a-1a forgr S g
77 | Language Option A Option B Option C Option D Correct Answer
. - Tirfor super Union screw Either Aor B Dynamometer Either Aor B
English/Hind!| & iz g BEEab L RIERCR b W A5 12 a1 dl e el
IMQ = ohms
IMQ = ohms
78 | Language Option A Option B Option C Option D Correct Answer
- | 10Lakhs 100 Lakhs 1000 Lakhs 1500 Lakhs 10 Lakhs
English/Hindi 10 TG 100 TTE 1000 TG 1500 ST 10 T
A drawing made by viewing the object right from its top is called as
fopft v ®1 39D =MW G T3 SR AR 15 7Ts STl B Hgl offdl
79 .
Language Option A Option B Option C Option D Correct Answer
' - Plan Elevation side view up view Plan
English/Hindi m _"u_tn—f: mﬁm FRE ‘ChG‘T:H
Competency Certificate given to OHE Lines Man is
3{1Ud, SI3=4 14 I f&a1 a1 givgar uHm U S
go | Language Option A Option B Option C Option D Correct Answer
TR-2 TR-1 TR-4 TR-3 TR-2
English/Hindi
TR-2 TR-1 TR-4 TR-3 TR-2
Which method of safety is generally not adopted during power block on
a Sub- Sector?
JY-&F WR UTeR sl & GIRIH GR&N D1 i T fafe sridR v
el SIS Tl &
81
Language Option A Option B Option C Option D Correct Answer
Prohibition of AC
engines to enter in
English/Hindi PTW power block secting. To tip Feeder CB. - To trip Feedit CB
nghisn/rinal = BICLECSIED U ¥ | e it o i e @ o e afte 0 i e f
b R e e gl
[§=1 &1 8|
Battery rating fora SSPi1s  AH
SSP & fAU e dI AT AHT
gz | Language Option A Option B Option C Option D Correct Answer
200 140 40 100 40
English/Hindi
200 140 40 100 40




BDYV of Transformer o1l should be

CGIR @ HIBDV KV gHI 91igT

KV.

g3 | Language Option A Option B Option C Option D Correct Answer
60 40 80 90 60
English/Hindi
60 40 80 90 60
Insulation Resistance between LV and E at 30°C for a 132KV / 25KV
transformer should not be less than .
132KV / 25KV SHaBIR & fei 30 © ¢ R LV 3R E & &9 g=gazH
oo |UIORIY AW =151 gIFT TIST
Language Option A Option B Option C Option D Correct Answer
400 MQ 440 MQ 300 MQ 100 MQ 400 MQ
English/Hindi \£ 00 MO 440 MQ 300 MQ 100 MO 400 MQ
Transformer oil sample Crackles on heating; it is an indication of
ST R SABIER BT @ AT hh ol o, T8 DITD
% | ddd &
Language Option A Option B Option C Option D Correct Answer
. 2 ; Increased acid content Too cold sample Fxcessive Water conteot Improved BRDV Excessive Water content
English/Hindi ofeis $1 mEn qf;.: Agd 331 o L T T CHGIETRIEI o Seferp I @ HE
Which Instrument is used for PI checking?
targ Sifa & fere fasa SuesRor &1 Iui faar i g2
86 | Language Option A Option B Option C OptionD Correct Answer
. Amumeter, Voltmeter , Watt meter Earth Tester Megger BDV Tester, Meggel
English/Hindi | mtizy qremfier, e q-g_(-.ﬂ e ﬁm atStdl wlar | ﬁﬂ-[q
Which test should be done to know water quantity present in o1l
sample?
dd & A 1 ASG Ul @1 A1 B 9194 & (8 SIF |1 URI&101
¢ | f a1 ST TIfge?
Language Option A Option B Option C Option D Correct Answer
_ | Crackle Test PPM Colour Test Tan-3 Test Colour Test
English/Hindi R Uk Fr e q.6 o 1 uderor

PPM




What is not compulsory for maintenance of CB / BM?

Hidlt / dften & waz@E & fore aan sifaard Fgi g2

Language Option A Option B Option C Option D Correct Answer
88
[To keep 110 volt DC
supply switched off
. - | 7o bt PTW from TR To open SPLTHM during the work Non of the above Non of the above
English/Hindi | s st wer - A A sl oA i i a;]’{fﬁ;aﬁq‘[:{ 110 diee |50 g md ot =l g A e ot 7al
St e s W &
fere
LA rating for 25KV system is __KV.
25KV UUIEl & R LA @ Kv el
g9 | Language Option A Option B Option C Option D Correct Answer
42 198 98 120 42
English/Hindi .
42 198 98 120 42
Differential protection works against which type of fault?
faice HR&T fHE UBR & 4IY & At S1H &l g2
A Language Option A Option B Option C Option D Correct Answer
) | Internal faults Over voltage Over cufrent Low oil level Internal faults
English/Hindi| piopee e At | i a0 R el ] & R
Minimum permissible Megger value between HT- EforaPTis  MQ
e i
Us PT & (018 HT- E @ a0 0T H TR TR 7 Mger &
91 | Language Option A Option B Option C Option D Correct Answer
200 20 100 250 200
English/Hindi
200 20 100 250 200
Most suited place for cable storage is —
. - 5
P HSRUI & [T gad SPAORG_ ©-
92
Language Option A Option B Option C Option D Correct Answer
. ) | Moist and Dark Moist and Sun light Dry and dark Dry und Sun light Dry and dark
English/Hindi rft AT SR 0 3 T o @ AR IR e S A W g AR T
In India.electrical power is transmitted by
. st
HRA H f[Agga yIR @1............ GRT U far e g |
93 | Language Option A Option B Option C Option D Correct Answer
] . v Sillgle phase AC Three phase 3 wire AC 3 wire DC 2 wire DC Three phase 3 wire AC
EI‘IgliSI'IleI]dl W .Eb_ﬂ AC 1 T AT 3 AR AC % EITfW DC JAER DO AR TG 1 3 T AC




The advantage of AC over DC in utility applications is

géfeife iR # AC & W DC BT F1 1Y BT

Language Option A Option B Option C Option D Correct Answer
94 AC can be
AC is easier to transform AC is ransmitted with AC can be easily penerated with less| AC is easier to
from one voltage to lower loss it wires obtained from de dangerous by transform from one
) .. |another m@fﬁam‘s’rﬁ?b enerators products voltage to another
English/Hindi |, - 5y v drerer S gar Tt A o Dt Ty [PC SREXERIACH |8 WRAID A |AC 1 0 et
EERCIGIRIG R R R: 2 Bbheudi Tt 2 e e o (WIS e GRTAC BT [gR @ SaH §
e g GRe s |siafvd a g @
REIE
A house served by a 220V supply light. is protected by a 9-Ampere
fuse. The maximum number of 60 W bulbs in parallel that can be turned
on is
T TR T 220V & @l Alge 4 YD1 Uer fobg] Siidl
= . 2 ~ ~ - A
os | T O 9 THITOR I W WRIA G 1 60 W & SHfidpad [ha- aeal dl
URTeTd H 311 a1 o Sl o2
Language Option A Option B Option C Option D Correct Answer
11 33 22 = 33
English/Hindi g
11 33 22 4 33
Which of the following is not a general characteristic of ac wave?
. | FrafeTRET H o1 U ac d 31 T4 faamar el &2
Language Option A Option B Option C Option D Correct Answer
English/Hindi | v adwait o s (AR st SR Pk o
All sine waves
BRI T A gl
97
Language Option A Option C Option D Correct Answer
English/Hindi |3 s et b
Which motor is used in bore wells
. S, ¢ S Y Y =
aRdd H fd YR &1 HIeI Wad Bidl 67
98 | Language Option A Option B Option C Option D Correct Answer
) . Monoblock Submersible DC motors . Submersible
English/Hindi "1 ﬁ s FaiRfaas DC Hlex Pt e garfiad
Which type of motor is used in Fans in Houses
WRI & Ul H [ YR & HIeX BT 3G BIdl 62
2 Language Option A Option B Option C Option D Correct Answer
_ | single phase AC 3 phase AIC DC motors None single phase AC
English/Hindi DC HieT udhel 1y AC

Uhd By AC

F Y AC

P Tel




Inverter coverts

100| Language Option A Option B Option C Option D Correct Answer
ACtoDC DC to AC ACto AC DC to DC DC to AC
English/Hindi| \ & 5 DC ¥ AC ACH AC DC ¥ DC DC ¥ AC
B Ul ARG i FldET BT HIT XVIT TR {1 7 2
On which date Part XVII of the Constitution contains passed
101] Language Option A Option B Option C Option D Correct Answer
fei® 14.09.1949 B 5-08-1947 e f L EA® 14.09.1949
Hindi/English | =~ 0o Date: 15081947 4603320 Ll Date: 14,09.1949
Date:26-01-1930 g A
YR FideE & HFT xvin 3 fha 3wg ¢ 2
How many articles are there in the Part XVII of the Constitution ?
102| Language Option A Option B Option C Option D Correct Answer
3[Ja5e 9 3G 8 IHE I 6 9
Hindi/English Articles 9 Articles 8 Articless Articles 6 Articles 9
When was Official Languages Rules amended ?

103 Language Option A Option B Option C Option D Correct Answer
Hindi/English | 1974 1967 1955 1974 1967
SIEUA W2l P JSTHINT F1 6 2
Which is the Official Language of Arunachal Pradesh ?

104 | Language Option A Option B Option C Option D Correct Answer
M gt English Hindi Dutch Urdu English
gl # PTHPTS @ 7Y XeTd SIS D1 IIT1 BT AH M G 2
What is the name of the scheme of Railway Board on work in Hindi ?

e Language Option A Option B Option C Option D Correct Answer
Hindi/English |t e oo i Li,u][ft:t ;\j‘l o el
fgdt fRr&m gIeHr & ofaR Eb? TIPR $ Srarial aﬁﬁb—cﬁ
N H el TG, ARG 2
In accordance with the Hindi Teaching Scheme, into how many

106 | categories the Central Govt. Employees have been classified ? What
are they 7

Language Option A Option B Option C Option D Correct Answer
Hindi/English 4 3 3 6 4




T weien Sl gu ua Ieufad st &1 dafeas aaq
G @ [oTT =FAH 3@ FM13 2

What is the minimum percentage of mark to be obtained by a Gazetted

107 . g
Officer, in Pragya course to become eligible for Personal Pay ?

Language Option A Option B Option C Option D Correct Answer
H]ndlf!EngJ]Sh ”‘IWEI‘T: ﬁrl::e":rr:\[.:m. ition L'I'!” l:- o ?hq:w rl:l ‘: - T T\ |I||| s il I-I ‘I"’r'mh - I!A\’-‘—I?I:I‘u[ullfl’::lu
CREIERACEIRIPIRIE L) aaif?rﬂm e YRR IS 36
3= &1 STl © |

108 | Language Option A Option B Option C Option D Correct Answer
i ESL = = .
R$2000 Rs1000 Rs 500 .
Hindi/English 520 s 85
/ERBISH | p6.3000 Rs.3000
SR H g5 T H DI B o ford] e 1§ i 41
TR FUHNT fopdl STl ©
Name the Software commonly used by the offices to make computers work
109 | 1n multilingual form m Windows environment?
Language Option A Option B Option C Option D Correct Answer
% qJIS £ j;”]lﬁ Ty ot q?‘iaﬂ\%
Hindi/English HITEl Mangal : . - ﬂmfﬂ
UNICODE Devnagari Leap Office UNICODE
Hat orHTT AR § TSaHT & by SeE eid ©
How many members of the Rajya Sabha are there in the Committee of
110 | Parliament on Official Language

Language Option A Option B Option C Option D Correct Answer

Hindi/English | 10 5 7 15 10




